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Question ID : 9895807604
Chosen Option : 3

Section : English Language

Q.1 Select the most appropriate word to fill in the blank.

The complexity of the current environment includes many challenges in general, but air pollution in
Ans 1. particular

#< 2. common

v 3 overall

/< 4. public

Question ID : 9895807955
Chosen Option : --

Q2 gelect the synonym of the given word.

ELAPSED
Ans 1. Persuaded
#< 2. Connected
< 3. Ceased
« 4 Prolonged

Question ID : 9895807946
Chosen Option : --

@3 Select the word which means the same as the group of words given.

A close fitting cover for the blade of a knife or sword.

Ans  of 1. Packet
/< 2. Pouch




/< 3. Sheath
< 4 Mask

Question ID : 9895807952
Chosen Option : --

Q.4 Select the most appropriate word to fill in the blank.

If you have a tor photography, you do not have to wait for your big break.
Ans  of 1. passion

75 2. demand

X 3 claim
/X 4. response

Question ID : 9895807956
Chosen Option : --

Q.5 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

Ans  of 1. applications has been a great support
/< 2. No improvement
/< 3. applications will been a great support
/< 4. application have been a great support

Question ID : 9895807936
Chosen Option : --

Q6 Select the synonym of the given word.

BOUNTIFUL
Ans  of 1 Pretty
/< 2. Spiritual
#< 3. Generous
/< 4 Religious

Question ID : 9895807945
Chosen Option : --

Q.7 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

He is felt extremely unhappy vesterday because of the inordinate delay of the messenger.

Ans  f 1. He have been feeling extremely unhappy yesterday

/< 2. He has feeling extremely unhappy vesterday
/< 3. No improvement

/< 4 He was feeling extremely unhappy yesterday

Question ID : 9895807935
Chosen Option : --




Q.8 Select the most appropriate option to fill in the blank.

Researchers say that about 33 % of people with diabetes may a skin disorder in their lifetime.

Ans X 1. have been
#< 2 have
#< 3. has been
v 4 has

Question ID : 9895807938
Chosen Option : --

Q9 Select the antonym of the given word.

INDOLENT

Ans  of 1. Lively
< 2 Lifeless
/< 3. Sluggish
/< 4. Inert

Question ID : 9895807947
Chosen Option : --

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.

0

It makes us realise how unsuitable our education system are because it cannot help us deal with life’s most basic issues.

Ans 3 1. education system are
< 2. it cannot help us

7< 3. life’s most basic issues
« 4 It makes us realise

Question ID : 9895807931
Chosen Option : --

°1'1 Select the word which means the same as the group of words given.

A place in a large institution for the care of those who are ill.
Ans X 1. Camp

v 2. Clinic
/< 3. Infirmary

/< 4. Shelter

Question ID : 9895807951
Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
2 substitute it, select No improvement.

The convict was informed that the judge will heard the case tomorrow.

Ans  of 1. judge will hear the case




/< 2. judge will hearing a case
/< 3. judge hears a case

/< 4. No improvement

Question ID : 9895807934
Chosen Option : --

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
3

Computers everywhere use random numbers as keys to locked or unlock encrypted information.

Ans 3 1. encrypted information
« 2. Computers everywhere

7< 3. use random numbers as
/< 4. keys to locked or unlock

Question ID : 9895807932
Chosen Option : --

Q.1 o "
4 Select the correctly spelt word.

Ans X 1. Knowledg
/< 2. Knowledge
/< 3. Knowlege
v 4 Knoledge

Question ID : 9895807954
Chosen Option : --

Comprehension:

In the following passage some words have been deleted.

Fill in the blanks with the help of the alternatives given.

Man is a 'social animal'. Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour.
Psychologists (2) that though violent behaviour
is inherent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4) need professional help.
Meditation and practicing yoga also helps to (5)

negative attitude towards self and others.
SubQuestion No : 15

Q.1
5




Select the most appropriate option that will fill in the
blank number 1.
Ans X 1. submissive
#< 2. ambitious
+ 3. helpful

/< 4 vicious

Question ID : 9895807940
Chosen Option : --

Comprehension:

In the following passage some words have been deleted.

Fill in the blanks with the help of the alternatives given.

Man is a 'social animal'. Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour.
Psychologists (2) that though violent behaviour
is inherent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4) need professional help.
Meditation and practicing yoga also helps to (5)

negative attitude towards self and others.

SubQuestion No : 16
061 Select the most appropriate option that will fill in the

blank number 2.
Ans & 1. says

X 2 saying

o 3 speak

/5 4. say

Question ID : 9895807941
Chosen Option : --

Comprehension:




In the following passage some words have been deleted.

Fill in the blanks with the help of the alternatives given.

Man is a 'social animal'. Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour.
Psychologists (2) that though violent behaviour
is inherent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4) need professional help.
Meditation and practicing yoga also helps to (5)

negative attitude towards self and others.

SubQuestion No : 17
°7-1 Select the most appropriate option that will fill in the

blank number 3.

Ans o 1. tendency

& 2 aim
/< 3. preference

/< 4. choice

Question ID : 9895807942
Chosen Option : --

Comprehension:

In the following passage some words have been deleted.

Fill in the blanks with the help of the alternatives given.

Man is a 'social animal'. Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour.
Psychologists (2) that though violent behaviour
is inherent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4) need professional help.
Meditation and practicing yoga also helps to (5)

negative attitude towards self and others.

SubQuestion No : 18




Qé1 Select the most appropriate option that will fill in the
blank number 4.

Ans o 1. whom
< 2. when
& 3 who
< 4 whose

Question ID : 9895807943
Chosen Option : --

Comprehension:

In the following passage some words have been deleted.

Fill in the blanks with the help of the alternatives given.

Man is a 'social animal'. Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour.
Psychologists (2) that though violent behaviour
is inherent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4) need professional help.
Meditation and practicing yoga also helps to (5)

negative attitude towards self and others.

SubQuestion No : 19
Q; Select the most appropriate option that will fill in the

blank number 5.
Ans X 1. deal

v 2. increase

< 3. unsettle

/< 4 rectify

Question ID : 9895807944
Chosen Option : --

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
0

With the help of skill- based education offer in colleges, many students will become eligible for various jobs.

Ans  of 1. With the help of
/< 2. eligible for various jobs
< 3. many students will become

7< 4. skill- based education offer in

[ Question ID : 9895807933




Chosen Option : --

Ans J‘I. are
XZ. was
X3 s

X 4 were

°1-2 Select the most appropriate option to fill in the blank.

A toddler’s brain pretty much fully developed by the age of three.

Question ID : 9895807937
Chosen Option : --

ASSAULT
Ans o 1. Offend
X 2 Strike
/< 3. Agree
< 4 Defend

@2 Select the antonym of the given word.

Question ID : 9895807948
Chosen Option : --

Ans X 1. Imfrastructure
/< 2. Infrastructur

v 3. Infrastructure
#< 4 Infrastracture

Q.2 .
. Select the correctly spelt word.

Question ID : 9895807953
Chosen Option : --

To turn over a new leaf

Qf Select the option that means the same as the given idiom.

Ans > 1. To turn over the page of a book
7< 2. To change one’s behavior for better
« 3 To be always careful about one’s behaviour

/< 4. To make new things happen

Question ID : 9895807950
Chosen Option : --

To bury the hatchet

05;2 Select the option that means the same as the given idiom.




Ans > 1. To make someone happy
/< 2. To make peace
/< 3. To bury an axe
« 4 To bury old utensils

Question ID : 9895807949
Chosen Option : --

Section : Hindi Language

¥ R T ereg w1 i o

g

Ans \f1§l@ﬁﬂ?
X g
X3 FaTTer
Ko A

Question ID : 9895806725
Chosen Option: 1

2 R AT oreg ¥ UATIEEN oeC ST T HY

IE

Ans X 1 ET

X 2 3mE
X3 T

| E]

Question ID : 9895806728
Chosen Option : 4

3 3y T ST F BT T o &S

Srweh a3mg &7 @
Ans X1- Qm-rﬂ-
X Ay

X o Rerichrdr
W o g

Question ID : 9895806731
Chosen Option : 4

Q.4




e v &1 s & RIv 39gea aeg & T9F F

I =TT IT o7 TES | dle 31w
Ans «1q-\‘-§

X2 gfe

K3 T8

X4 gt

Question ID : 9895806717
Chosen Option : 1

Q.5 ﬁmmﬁmtﬁqmdqgﬁ-d e T =LA ﬁl

aiaer & 9T qT 2
e X Fax &
X 2 % g

s T
X 4 aTy

Question ID : 9895806716
Chosen Option : 3

Q6 Rrmfaf@a & @ 38 Reed & 90 U S T F TN T IR F HE AF FAT B
Ans X o FI FET

X 2 gTT T HAT

- &) Egﬁmmm

X4 ae T BT == @er

Question ID : 9895806730
Chosen Option : 3

Q7 fw orw arFr F @ifFa @ # ARG B & BT s9ged ReeT # Twa

THART £ X & e £
Ans xl am

X 2 faep

v 3 ETaT

7< 4. pEOT

Question ID : 9895806714
Chosen Option : 3

Q.8




& a1 ST & v v oreg Sl

Tl & wafad
Ans o1 e

X2 Aaw

K3 aifas

v o=

Question ID : 9895806732
Chosen Option : 4

* fra T W RS F T 39GFT o FoTA

HAS _ H 3B
Ans XT EIEGﬁ'

X2 gEH

v 3 gt

<4 Ferar

Question ID : 9895806715
Chosen Option: 3

e T a5 T e = T =1
Ans o1 GTRIT

<2 8T

/< 3. &eT

o o 8T

Question ID : 9895806733
Chosen Option : 4

°1-1 few 1w A F Wifea @3 & sfaraia s & v svgea s @1 997 &1

Aee 39 FTH F 07T 2
Ans X1 STeATeR

Xz.q::ﬁ'

X< 3 enfax

v i geT

Question ID : 9895806712
Chosen Option : 4

U TS IS 9 AR FT T Fi

Ans




v Rtar
X 2 R
X o dratar
X« freten

Question ID : 9895806734
Chosen Option : 2

Q.1
3

Ans

frafafs & @ 38 fwes & 999 F{ 1 7 FOT Gy F AT wFd F
2. Sga WE WA

X 2 Sgd HAAT

o Tgd ST

X« oga st

Question ID : 9895806729
Chosen Option : 3

Q.1
4

Ans

Comprehension:
fTrafaf@a ey & Rea s & 9fF agzrr & &
AT FeAT F HJAN HITAT-

AT Tl § & oEa-maw W AR 3 # U e KN,
(1) F IT F mR F TEEEr HT 3 @A
T H HIAT qOT (2) oo &1 Far AT amedr s
YR & hiFd F| Segiel Vbl A HIFSorar & S o
TE, FE I AF _ (3) FET gF1 TS o gEN A A
e ¥ 0 3, R AR gETEeEr (4) & Jr
3 TAL & @08 AT HES Foig H @ § AT FHA
HF W AT (5) & &= T F T SOw @ I
gl

SubQuestion No : 14

el H FWehiad Rag T (1) & e
3O 2T g

X e

X 2 FETE

X s T

W 4 e

Question ID : 9895806720
Chosen Option : 4




Comprehension:
Trafaf@T ey & Nog wu=r & ofF ey & & o
T FeA F HFAR FHIfAC-

AT HheT § & THT-FT 9T gAY & H UW 39 ®,
El ey (1) F 3T F Tar Fr /=T 33 3= TATA
FA H AT IO (2) =@ &1 FET AT T =
TFR & hiFd F| Ieale Tehal AR HigSoEr @ S o
iy, 98 3 9= {3}H'é"r§'é|3ﬂsra§’ranﬁaarﬁ
Tl @ 0 Aar, e Ak gEreadr (4) & =
TH T & &Tg 3T HES goiq Fd B ¢ T uET
A 9T HUA (5) Fr T T F T JAR & I
gl
SubQuestion No : 15

% e F TEfaT Rew T (2) ¥ R
39YFA eE B

Ans "1%].%(_"-
3 :
K.&H?HHT'
X 4 =BT

Question ID : 9895806721
Chosen Option : 1

Comprehension:
for=faf@a ez & Rea wum=t & oft gz & & foo
AT G F HFAR HIfAe-

AR Teew § T TEO-aET W AR U # U e ®S,
10y (1) T 3T & TIR F TFIAT AT 378 FAT
A F AT IO (2) s &1 FER AT T @
TR F ed I 3ol Tehar 3R JigsoEr #r S aww
T, 98 ¥ 9= {3};ré’r§'é’|3ﬂsrafranﬁaarﬁ
T @ 00 Aar, e A gEeadr (4) § =
ﬁﬁﬁﬂ:ﬁﬁmalqmgﬁa*{éﬁﬁgmm
HF W 3 (5) & =T T F T AR & I
gl

SubQuestion No : 16

Q.1
6




TETTYN H TFad Nod T (3) & e
39YFA eE B
Ans x1ﬁ
X2 xfoem
P15}
v 4 gffor

Question ID : 9895806722
Chosen Option : 4

Comprehension:
frfaf@a ey & Rea s & oft aezr & &= o
T FeAT F HJAR FHIAT-

AR Thaew § & gEu-uEy W AR U A U e HS,
3R (1) #r 3T F THR FT TFIT AT 375 A
A H HIAT T (2) == &1 e AT amelr s
TR & Afed | 3egiel Tehal 3R Figso@r & St amr
g, IF 3 I (3) 7ET g1 AT o IR 2w A
Tl & 0 Adr, feRe A gErsae (4) & =
Eﬁﬁfﬂ?ﬁﬁmammgﬁaﬁiﬁﬁﬁgﬁm
T W AT (5) & =T TS F T AR & I
gl
SubQuestion No : 17

Y sz F ST Reg wE (4) ¥ B
3UgFT WA B

ans X 1. frirer
v AisE

Y

X3 g
X o T

Question ID : 9895806723
Chosen Option: 2

Comprehension:




fTrafaf@a ey & Rea v & 9fF ez & J=r i
T FeAT F HJER HITAT-

A ey § T oET-maT W AR 3 H U 3ee KN,
sk (1) #r 3T F TAR F TG 33T 3¢ FATT
T F HTAT IO (2) = &1 FHT AT TMefr =@
TFR & AiFd &1 3egiel Vebal A HIGSOEr & S o
g, ag s’ g% (3) T g81 I o gAY 2U H
T & T o, R s gaEeeEr (4 g
T TAL % @90 AN HES Foig F @ § AT FET
HF W AT (5) & TS T F T AR & I
gl
SubQuestion No : 18

% ey # Efad Reg == (5) ¥ T
3UgFd ITeE B

Ans Kr1'ﬁﬂ-
X 2 g=oT
X3 HA
W 4o groT

Question ID : 9895806724
Chosen Option : 4

S Ra T W RS F T 39T o # T #

a5 Fiel
Ans (1. TEERT

< 2 F=Ay

XK s Fogrer

v 4 =g

Question ID : 9895806718
Chosen Option : 4

U R AT oeg ¥ TSR oeg T OIS WY

SHTETA

Ans ?(1' H?TET
X 2 #Afesh
v Tty




X 4 FHART

Question ID : 9895806727
Chosen Option : 3

% RT T I9T F TF S A H o 8 IR P

farar #r giear fFaar Ta=oe & B
e o gfew

X 2 ofgrat $ir

v o T o

X4 g &

Question ID : 9895806709
Chosen Option : 3

% T T I9T F FF S A F S % TR

HTHYUT FT FHF Tg AUSTIE MET Agalr Hr TR 2l
Ans X1I|g;“-um

W 2 9mEr HEer &r
X 3. THYUT F HE
X 4 gusgT T

Question ID : 9895806710
Chosen Option : 2

% RT T I9T 1 FF S A H o % TR

i & f3ermer 387 99 oEER 2d
e g )

X 2 Temer gaT

v FE BHEER

X4 Al &

Question ID : 9895806711
Chosen Option : 3

% BT T g 1 R T

Heeh X




Ans ¢ TTERR
v TREER
X 3. gFATA
X 4 FFIT

Question ID : 9895806726
Chosen Option : 2

052 few a1v o # Wifra @3 # Sfaraie &= & BT 39ged ReeT # T #

TS A TAS & g
as X1 gt TR
X2 i

< 3 gL Al
o AT T

Question ID : 9895806713
Chosen Option : 4






